
Soustraction Avec Un Zéro (G)Calculez la différence.
70 60 60 30- 37 - 41 - 24 - 30
80 90 50 70- 27 - 67 - 37 - 22
40 20 40 10- 2 - 15 - 20 - 2
40 10 10 90- 20 - 9 - 3 - 85
20 60 50 90- 16 - 45 - 50 - 30
20 70 10 40- 7 - 22 - 4 - 4
30 20 30 40- 4 - 8 - 13 - 20
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Soustraction Avec Un Zéro (G) RéponsesCalculez la différence.
70 60 60 30- 37 - 41 - 24 - 3033 19 36 080 90 50 70- 27 - 67 - 37 - 2253 23 13 4840 20 40 10- 2 - 15 - 20 - 238 5 20 840 10 10 90- 20 - 9 - 3 - 8520 1 7 520 60 50 90- 16 - 45 - 50 - 304 15 0 6020 70 10 40- 7 - 22 - 4 - 413 48 6 3630 20 30 40- 4 - 8 - 13 - 2026 12 17 20
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